Timely Practice ratio strand 1 new learning questions

NO calculator practice
1. Kamden and Leila share £54 in the ratio 5 : 4

Work out how much each person gets

Kamden £ . ... .. ..

Leila £ ... .. ...

2. There are some soft toys and some building blocks in a toy box.
The total number of soft toys and building blocks is 72.
The ratio of the number of soft toys to the number of building blocks is 3 : 5
Work out the number of soft toys in the box.
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3. Muni and Noori share £42 in the ratio 3 : 4
Work out how much each person gets
Muni £ ........
Noori £ .. ... ...

4. There are some plain biscuits and some chocolate biscuits in a tin.
The total number of plain biscuits and chocolate biscuits is 42
The ratio of the number of plain biscuits to the number of chocolate biscuits is 5 : 2

Work out the number of chocolate biscuits in the tin.

Answers: 1) Kamden £30 and Leila £ 24 2) 27 3) Muni £18 and Noori £ 24 4) 12
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